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Carbon-14 has a half-life of 5750 years. How long will it take for
80% of a 40g sample to decay? +
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Evaluate the following without a calculator...

13 351 years
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If the intensity of earthquake A is 5 and the intensity of earthquake B 1s 650,
what is the difference in their magnitudes as measured by the Richter Scale?
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The 1985 Mexico City earthquake had a magnitude of 8.1 on the Richter scale

and the 1976 Tangshan earthquake was 1.26 as intense. What was the magnitude
of the Tangshan earthquake on the Richter Scale?
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Exponential Growth Review

1. Exponent Laws 5. Logarithms
- Switch Forms
2. Exponential Equations - 3 Properties
- Common Bases
- Substitution 6. Laws of Logarithms
3. Exponential Functions
- Transformations 7. Logarithm Applications
- Exponential Equations
4. Exponential Applications - Richter Scale
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Review of Exponentials...

« Laws of exponents
- simplify
- evaluate

« Solving Exponential Equations
(1) Same base using laws of exponents
(2) Set exponents equal and solve equation

NOTE: "Substitution method" when adding/subtracting

* Exponenhal Functions notice coefficient ofx

Function Notation (Standard Form) must be 1 to identify
1 horizontal stretch
—(x+h)

v =ab* + k

Mapping Notation - (with respect toy = bX)

(x,v) = (ex—h,ay + k)

where: a = vertical stretch factor
b = base (common ratio)

¢ = horizontal stretch factor

h = horizontal translation

k = vertical translation
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« Exponential Growth/Decay Applications

v
— a( )5—0 Increment
J‘//' (x scale)

Initial Amount

(y-intercept) Base

- finding the base... (1) Through key words
(2) Common ratio
(3) Percent
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Review of Logarithms...

Switching Forms:

log,x=y o a’ =x

General Properties of Logarithms: Ifa > 0and a=1, then. .
(1) log,1=0

(i) log, a™ =x

log, x

(iii) a"%* = x

1) Product Law = the logarithm of a product 1s equal to the sum of the logarithms of
the factors.

log ,(MN)=log, M +log, N

2) Quotient Law => the logarithm of a quotient is equal to the logarithm of the
numerator minus the logarithm of the denominator.

(M ) _ . .
log,| — [=log, A —log, N
AL )

/ l \
log,| — |=—log, N
N

S

3) Law of Logarithms for Powers = the logarithm of a power of a number is equal to
the exponent multiplied by the logarithm of the number

‘ log, M? =p-log, M

P
log,, M ¢ =P, log, M
q

Solving Logarithmic Equations

STEPS... (1) Write left side & right side as a single logarithm
NOTE: Jog.a =1

(2) Set arguments equal & solve the equation

« Solving exponential equations where both sides
can not be expressed to a common base...

Take the log of both sides of equation
and apply laws of logarithms

1 N
e Change of base formula: logb;‘ [ = 08,

log, b
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Review Timelll

Pages 4l6=7( Pgqs- 119-120
2,49, 5,11, (2, |3, #/,037,5¢,2,31 /1

/L/,/%,I‘ll 20,1({ 2

Worksheet - Review of Logarithms.doc
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Attachments

Q  Worksheet - Review of Logarithms.doc



[image: image1.jpg]¢2,G2 40 24nypuadwia) Wood 3Y4 04 [009 04

294102 Y4 2%D4 41 ||IM Buoj MoH ‘sa4nuiw 2 AuaA2 D2y St JO Namwmo_
pup 9 G6 40 2unibuadway [piLIul UD Wout buijood st 224400 Jo dnd v

¢Aunow siyy Jo 9,0z 04+ Ab2ap 01 2¥py LI |im Buoj moy ‘Ajpriul T€T
-eulpog jo mEmmﬁ 2ADY NoA JT "SADP ['g SI TE]-2UIPOT 40 241|-4[PY YL

¢5224 000 0] 04 Moub o} Auojod
,, 2y} d0J YLUOW 452.402U DY} 0L X404 41 [|im Buo| moy ‘Aj[Diiiu) muwnooNoom
2uD 2UY4 ST "SY4uOW 224y} AU %52 Aq saspauou) mumﬁ 4o Auojoo v
: &Hipy Aq paanpau
Apisuau) ay1 s1 yudap toym 4y o 1eT noqp Aq paonpau s Jybi|
2N|q 40 ALISUR4U] 34} ‘U3 LDMIZPUN SPUBISIP UBAIP D S3JL2W G AdaA2 Jog
¢SJD2A pupsnoyy (saupau

Y4 0} "suipwiau 3y 3up pjo moH 6w/ 200’0 SUIDLUGD Mou 4nq o

40 6wi/°Z paurpyuod Ajjouibluo [pWiUD 3y} 1oyL payDILSD s4s160]03DY2.UD
‘UaW193ds upjno14pd 2o UT ‘sapah 0p/G Aj24pwixouddo up %05

Aq sApaap “sjpwiup Jo suipwad [pyajass 2y ui punoy "(,30) ¥1-uoqup)

"Buoj moy Aq pup 000G 01 Moub 04 Jz6uo| ¥} [[IM JuaWLsaAU]
U214M 2UjWLI213Q "SUDRA 0M) AU2AD 99T 1D 00T $ P24S2AU] 21|DIDN
PUBLLJ N0 "8 10 24Dd 453.424U} |DNUUD PaXI14 D 4D OOQOT$ P24S2AUL NOA

'sunoy ¢ Auana sajdn.aponb oyy Auojos b Joy (b jpaday

¢uol]|iw 0’y 2q uoiypjndod 3y |jIM JD24A

+DYM Ul 's2NULLU0D YLMOUb L0 B4Du SIy} Bujwnsso puo ‘16T 29UIS SUD2A
40 d2quinu ayy siuasauadad v 41 ‘2|doad ol gZ'Z 2uam 2431} Usym
'1861 22uls 9] Aq 26D43AD U0 UMOJB SDY pdaqly jo .‘n_ ‘uojypjndod 2y

(CH

(3

(3

(2

(p

(

(9

¢000v1
04 MoJb 0} 2xD4 41 |[1m Buo| Moy “Aypigiur suzsaud Oz 2.0 242yl 4T
"dnoy Auza3 sa|dnaponb plua1opg Lo Auoj03 uip4122 © Jo uoypjndod 2y (o

{20moer = €22 (1 (60°T)000E = 000G (4 922,97 (6

(RAE s o) (] L= G(e Sh=.8 (P
2G=.£(2 G=,(t0) (9 L=.2(0
14onba |p1pusuodx2 YID3 2Aj0G

£0°0 "6oj (4 G %6o (2 2 “%6oj (p
22 6o ( 61 60| (9 01 %6oj (o

"SU3MSUD JN0A 393y

uayy ‘s220|d jpw1ap YNOA 04 24DNjpA? pup Of 2504 04 wy1unboj yopa abubyy

1= A,N = xv qw.m_,. Q + xNv ¥6oj (2

; o,mwo_ +‘x 2bo| = (g + ,x) %boj (4

1 = X °60] + (1 + X) °6o| (p 1 = (g +x%) %o - (2 - ,x) %6o| (2

9

£ = A %ol + (1 - A2) %0 (q 12 (z+x) o]+ (g +x) o] (0
(d 6oj - N 6oj - W o| e, (1
m\(mmo_ xo|w\;mo_ (G

£z 60) g/, - gy *bo| (2
2 *boj 2 - 9 %boj 2 (2
{ 60| + ¢ 6o| + g bo| (D

0 Bojg-g60|2+Vvbol(4

: N boj € - w bo| (4
.  boj + G bo| 2 (p
G %o| + 6 °bo| £ (g

“2|qissod 41 ‘240N|DAZ puUD Wy 41pbo| 2|buls D SD 241N

WGz isebo7 - 5oHo0ug DHXT

) -2.5294

©)0.7325

f)4and 2
d) 2.9835

e)45

d)2

c)4and-3
b) 1.8295

b)3/2

a)0

¢) 1.5885

) 2.0959

b) -1.7565 ) 3.5966 d)0.2580 ) 0.3802 ) 2.1003
h) 5.9276 i)7.9759

) 2.8074
9) 2.4835

4

)

years (about 9% months
Y ahort 27 wmineas

's by about 0.8

h) 18.8 days

urs d) Natalie'

) 2021 c) about 4.2 hoy
g) 18 months

) about 24.7m

a) about 1.4 hours - b

€) 57000 years






SMART Notebook


	Page 1: May 21-10:41 AM
	Page 2: May 2-7:59 PM
	Page 3: Dec 4-10:40 AM
	Page 4: Nov 23-10:20 AM
	Page 5: Dec 7-10:16 AM
	Page 6: Apr 24-9:24 AM
	Page 7: Nov 26-9:51 AM
	Page 8: May 3-2:04 PM
	Page 9: May 9-9:00 AM
	Page 10: May 21-11:42 AM
	Page 11: May 21-11:45 AM
	Attachments Page 1

